56800
56600

=
=

—Y=-56400
Y=-56200

EATEE ERPiE - EEs5 LS - ERXNL—FE)

Ss=11, 000

—§X=-141000

T ! '
‘ T 7 T 71717 7
| ‘\ ‘LJ_LJ_UL\‘ L] hl‘\‘ﬁw

—REEIS

S PR N
= - — X = =50
T T %LM m1 = &

s

v /pf I

— S @
=S

| | L | . . 7 w \\“\\%\,
; L/\X\\\&
(N

[ X=-141400

KAEL, BRRATEAONSIAEREEZTLEZLOTHY ., BELE-LDTREHY FE A
\ \

-56600]
-56400)

¥;
Y=
Y=

W\w /
H\‘r‘”/""‘/'u
Al

H ol ‘m“lw‘




SAETE T

Q
L

S=1100

-0

4500

VTP. +38. 15m

2375

4.5m (BRRER)

@ -©

4500

VTP +38. 15m .

DL=35. 00
KRS
DL=35. 00
3000
VTP +39. 55m
|
Q
Y < | ;.
A E i 2 0

|
DL=35. 00 \
DL=35. 00

KAEL, BRRATEAONIANEREZTRLEZ-LOTHY., EL-LDTEHY FE A

(B FHEIRR)

500 4000 500
W‘VTP. +39. 55m Lﬂ‘

3566

2 R T W
@-®
(500) (4000) (500)
(REE 1518 R)
ﬂz‘VTP. +39. 55m ‘FC ‘
i /,20
\.»q,“
it

! Tk FE

| METER HhP
Ix4
REIR
B R 1:100 ES ol
EREF A FRL £ A

RALMARHED FERAN FHEHR

%,



y
Cete -\
37:32 491,34\ |

A
3695~

/
/

AALiiif
fﬁf' — .

: 37.39 H

X$$@~ﬁﬁﬁf%iéhéﬁ%$5ﬁ

38.08
|

| |
Lt%@f&%
| | |

TH

BIER|  WHRRELBERE R

IF 4

B & WERRL—FE —RE

% R| 150 |2  Eom

R R TH & A
FMHRER FEAN BHH

Z



SAIERX ML—FE
S=1,100
HRIER ) —2 A A=
O-®
o IR ER
TP+36.2 > RO )—>
| )
S
% S
siie
DL=30. 00
LR A A—D
@-@
EEAES
DL=30. 00
A B MBS
T R
6T e8P .
I%4
£ AER b L—bE
fE R 1:100 ) ENDA
= = — tRER 2 & A
NKAEL, HEATEAONAHNEKEREEZRLEZEOTHY., BELE=EDOTIEHY FEA, TAMFEED HEAN BB

%,



